SEHMETHM 2+ ¢ 2 %L 275 15 7259 #2 16(02)2361-1677
1S FEHMBRTMRE)ZEZ [T RE)] SERE

- CHERP Y AT FREIFHERAC BT M NEE FE I R
B AT PRTF PER? (25 ‘v\)
HRHT

LARREIRRE 5y Bgt A E B> T PEESsD T T B SBIES -

2 PR B KB~ BB RIS -

3 M (EFR L 4 b (E AR Z FREL ST BIME S -

K AREFTRHER ~ TR ERBAR T EAGE ) 2 - B - EAEERARE > e
2EFEI 108 B -FR—FRIEET | (BE)#EE > HA28-A29 FE8/E -

(#5]
BYLE TR g d B T

(=) kgt

(=) e
12 b B @y i & difeg o= &2 9] o
2A¥ g - Ao Sl - - TP ERAT G S 6
EAAAREH 6 EZ D EPN m Y LR N DT o
Sob Hfep Gz p AR EILY BRG] 0 RATG FEA Sl s A S ER
FARBET - fn e
(=) '% 7fR»'7t’44"'i‘als7fm7 fm;}_\
L3 g2 kA b — 5 A Bl — B e RS RA o
AERTE. Sk RSN TR SR S LR

S nBAIRAREY 23 FL R AMKA A T HAY > PRED B
ML 2 P42 6 BIR et T A 2 EAABM R AR RTARAAR
PR o SR FHW Y R RANRT? MU P HRZ D PR MR
R G0 ? (25 &)

ERE

LAERENEEEIE P RUE - EHENR Z sl sl th LR -

QAR ~ MEEAR S ~ I~ It R EAL S A FE o a7 R AR TS
o -

K AR R Z SRR - DUSE IS4 ~ 73 B AR E - an P i = BIREETE" 108
HBEER—FAEEE ) (BE8)#ER > A4 B5& -

[#E]
(- ) @Y 2 ) (BR300 )
PALEIEA KA RE RV A E o B B PRI s BT 4

1



(z) sy pme (B30I m)
1. 3y e fp 22
B A F‘%l”i’f’bMﬂf&ﬂ‘ A e fE s M %‘iiéf*e Tl od 2 pAe s B
R BT REMLAL S R PE s TR A Y s M a0 -
2. A B B R
(D ARSEERBPRIF = S F A > JRETAFET FIEE > 7 i -
FEPT AP E R LN o s E A MY o AL N R S
o RWFREIAATE S B S o
(DY AP HPE o Bp PP VEBZ TP A I P fRBEI Sp2 P
LR TS F AR A S F AR SRR M IR IR R S
RSN FE o

ZARET O N FZAANMFARFAARFBRLET - PSRRI 2RE AR
AORIBFESERLKIPFIARNET &7 1 p FEHE:E 3 2
BoRAMSERHFLPE 00 m SEHRFEFE 2,700 ~/mio ¥ s EHER
FHALEDBRT e AP HRBI R I RBEIRY [ PSR
moode 108 & 1 2 1 peci §¥7 c BRFEIEF 1% #EBEF 110%
B vo ~vF=4A2&R (10T &# 7% 1 p3 108 # 6% 30 P) & ¥ps
i?fﬁ.iﬁ'%f??(g?&:{ﬁi}g 1. 2% 2-p @@ Z;fg,_, % 1.5% 2L %7}&3‘, L o
YE*RFE 3%) (25 &)

R

LETEENE IHE BN AE B ER . A -
2EENHINEER T FREHE  BARK

PR x (1 — R x Jrefly x MEEHRER x miH
JEREHEERRBY  (KEEsEHFEER - XFRERRIZEREEMABTRE WL THFS
FAFEEREY > i A ERESS

(#E]
(=) s EmiE:
2700 ~/m *x [1-(19% *x20)] = 110% * 300 m = 712,800 ~
(Z) " ~e [ BEE,S EREAT
17 i e L F 0970 * o o 3%
712,800 ~ x 3%=21,384 ~
2.0 1F2Lp Az R * > T 1.5%
712,800 ~ x 1.5%=10,692 ~
oprEErp Ry (RF1.2%) TEEIRFERY (FF 3%)
(Dpa* 712,800 ~ x 1.2% x 6/12 = 4,277 ~
(2)F #i#* 712,800 ~ x 3% x 6/12 = 10,692 ~
(33 14,277~ + 10,692 =~ = 14,969 ~



T FRE SRR BEE TRFER THRRARZPF AR ? (20 &)
EROT
LEE BRI R ARy B AR SRR AR U FIES > N7 RS T MM T Ry ) T LUBHHIR 2 B R
EU
DARERVE S 1.~ 2B 2w AR A M??Sﬁ;%ﬁ%{fr o 55 3 BEBHE T AHAHLEE - 554
TERMRRI RS 2 B B RER 1555 - 56 6 BRAREREHIE & @%Zme\TEE;%;;;
3RFEAEMUESAS - TR FRREAA IR o

€29
L%£ﬁﬁiﬁ9éé’ﬁﬂ%@$%ﬁﬁ%p B2pA > RETFELZEP D
FrpEAt 2 R EZ R TR 2T RAG
2. %m#?ﬁfﬁ:ﬁﬁhg WG AR 2R Bi% MR AT I A2 AR

ERELFEREL S A

CRRREIA R EFRRNNE B FRB L 2 F P a0 T R RS

B2 3%g o ERE L FRPF ST E 0 LAERARE o

4. FAERAREE K Z IR MRS R BT 2 me#ﬁ'%ﬁzﬁﬁ%#—,ﬁ 77 EE
2 F i e

DLRMBIBA RAZEMERTITE 2154 K4 2 T ARTH 4 f

AT AP P RIE A Z AL A AN G R AR AT
SR AETERPRE PRI FRAZAFT R R EFZRTS UBFE -

TRREBAFARI IS T2 REPHED 2 2o RIVHAB M Y 55550
FAT A MR B0 R B R o (FRdF12-1)

8. wHir’ *”7}%1» GI% 12 Rp > NN P BP A E LAY A TR TSR
o iEb| =g ’}fﬁaﬁcﬁm\a‘%ﬁéi} ZAERALEE 0 L f 8 SRE R TEF ’}frpﬁvfmo

(o

(o]

L RA F
—  ARHEEBEREH - % S AROLE S S R
= TR - R BRI - SR S R S -
ST | KBRS - ST RIALE 2 55 -
S
- ETRRUR A B RISE RO A R - @RS -

[1]
5°d

I}

=

H#

If

=




